Cvie 7/

/rXJ/V _/k/..
y-ﬁ[x-»a;x ”f’]
x- & [-vx Nﬁ?
X4 20X -'/
"'2/,\’»/?" ;’/

u

Y

—
-

(2§78 . 2u-3
s (:“‘ bt 5
5.5: ¢r2u-3)
26 = J2 4 - 92
Y2 = 2 U = ;;’«f» /2
™, .,Z g; o
(é) w+3 wi Y s
" ¢ 2
ERAYENA
&/43«*2/141/9/}':: £ 2

w43 - 3w -
-2uw - 2:- /2

-2 .,2/
Y
ey

(o 4- z/wu/é Jowh

C\Q/(N‘* 57(\( f
2//!&« 44 ff g‘éu A
/) 2{/\/4- JL/”?’/J
/
YR |

.i/«
}i S IINY 5 R

SOl 7Y INS

_ 3y-
(3 105
) J}/h(!zﬂm } |
.
({’3;« til y-5 ’f/ e
X7 5
£\ {53
3

(1)~ &
- & _ E
e T 3
| },.f/~~f): 2
?//G—/n ’
(© ffo/ff) s
L) 397 24 - /
f / A) s
'(;,)(,,»} f/s - 043 9
/ua//l//i/m a

/l/i# C()u// %/ '
~ U b Ct ~4/‘17/1")’ /3 . e ’?' |

? // A= L5 ounuld
‘ !
0.60 7



o “"?" .
(Q@m}(x)g R(x) - (x) @)& ZX*Z/ =17

= 65X~ (400,000 + Y5 x) 0|7 2y =09, 177
= §5 x- 09000 - 95X | 2| o TA=1P, X &

(2.c )= 20x- 60290° (07

(>

S : i £
) (R-C)20005) = ’
= ZO(ZQODO - 09 OO0 - ! >»<
e

= - 200,000

U He W Joretes cr 00 |
Aetss )00 poltda 17 G)z;,ij/j t S x4y 3

v/ hote o« Loss '“7/ o
.

Z0d 00O /¢ st ‘;/
A ) ?rﬂz "IC/ ’ 1= :
6)@*6)///@009 - Ha ;,i Line |
izoﬂ/goao _ £0),000 7% v, 2//: _E

- 200,09 0 2y ’;f;X 4 § /1

/ (/ Fhe 60702 W&"Q/Cf J .

,,ou,;é 2ct/ Q/&OQ L7 P /: < ¥ 4+ Y
/:7/ (er '(( "Z{/(;f/é’/ “ //‘A‘\ }/1,7/. ”m = -
</ / ? D&’ !M_Z iy ;’f A Lo @

@ j = —0.¥X 4+3F - b oo e £
X = # = x //737’0 |
j:7o°0-/}uen, Sw/@ﬂg/ , jj/:t«/)(“m}
= =2 %/X-/J/

T ppeetoge of wew DS
A Locreadd] a7 A rate 0
0.9/”/0 aﬂ(a/ ence /9Fo




